- o ; I RAER. ZMTH. Bk 5 EITIZ LY BER HEICEET— ZIRICIEEE
14000 - ilﬁ%ﬂ‘lt jj—j GE: #AEB. ZhB ., BRERRIIFAEZDOETICEYMBEHR N, FICEAT—20OBRICITFEEZET D)

(202251 H308B T LR AET: 2/1 14585 5)

12000 ~

10000 - N=405,270

(34EB¥IBAEIE 85.0%)
8000 ~
6000 -
4000 A

2000 -

mEHA
k-]
= fIF

REIEL [A]

m 21 31 41 51 e 71 81 91 101 1A 12 121 31 4 51 e 7 81 91 101 1M1 121 1N

FIE B
16000 -
14000 N=566,050
12000 - (IR N=75,768)

< 10000 -
& 8000 -
6000 -
4000 -
2000 -

O T T e T  E— R E—— — : = T T T
m 21 31 41 51 61 71 81 91 101 111 121 11 21 31 41 51 61 71 81 91 101 111 121 11

m A
k-]
= fIF

S

RRACOVID-19H — AR A S XA F—L(AEREF)



